

# Power series expansions of arbitrary order functional difference equations

Anthony G. Shannon<sup>1, 2</sup> , Ömür Deveci<sup>2</sup>   
and Özgür Erdağ<sup>4</sup> 

<sup>1</sup> Warrane College, University of New South Wales  
Kensington NSW, 2033, Australia  
e-mail: tshannon@warrane.unsw.edu.au

<sup>2</sup> Australian Institute of Technology and Commerce  
Sydney NSW, 2000, Australia  
e-mail: tony@aitc.nsw.edu.au

<sup>3</sup> Department of Mathematics, Faculty of Sciences and Letters, Kafkas University  
36100 Kars, Türkiye  
e-mail: odeveci36@hotmail.com

<sup>4</sup> Department of Mathematics, Faculty of Sciences and Letters, Kafkas University  
36100 Kars, Türkiye  
e-mail: ozgur\_erdag@hotmail.com

**Received:** 13 October 2025      **Accepted:** 1 November 2025      **Online First:** ... November 2025

**Abstract:** This paper looks at some real and complex generalizations of power series associated with some arbitrary order functional difference equations considered as generalizations and extensions of Fibonacci and Lucas numbers. It does this by drawing on, and interconnecting, some classic number theoretic results of Carlitz, Fassenmyer and Horadam.

**Keywords:** Auxiliary equation, Cauchy's formula, Functional equations, Power series, Recursive sequence, Taylor series.

**2020 Mathematics Subject Classification:** 11B39, 11C08, 32A05, 39-02.



# 1 Introduction

Functional difference equations have received spasmodic, but serious, attention over the years [3, 7, 12, 17, 22]. Here we propose to consider some real and complex properties related to their power-series [4]. Following Carlitz [5], we define the functional difference equation of arbitrary order,  $r$ , by.

$$w_n^*(x, \lambda) = \sum_{k=0}^{\infty} w_{n+k}^{(r)} \binom{x}{k} \lambda^k, \quad (1.1)$$

in which  $\lambda$  is an arbitrary integer; and from Jarden [14],  $w_n^{(r)}$  is an element of an arbitrary order,  $r$ , linear recursive sequence such that

$$w_n^{(r)} = \sum_{i=1}^r \alpha_{r,i}^n \frac{d_i}{d},$$

where  $\alpha_{r,i}$ ,  $i=1,2,\dots,r$ , are the distinct roots of the auxiliary equation of  $w_n^{(r)}$ , and  $d_i$  is the determinant of order  $r$  formed from

$$d = \begin{vmatrix} 1 & \alpha_{r,1} & \cdots & \alpha_{r,1}^{r-1} \\ 1 & \alpha_{r,2} & \cdots & \alpha_{r,2}^{r-1} \\ & & \cdots & \\ 1 & \alpha_{r,r} & \cdots & \alpha_{r,r}^{r-1} \end{vmatrix}$$

on replacing the  $i$ -th row by the  $r$  initial terms of  $\{w_n^{(r)}\}$ .

# 2 Power series

From (1.1), it follows that

$$w_n^*(0,1) = w_n^{(r)}$$

and, with arbitrary integers  $P_{r,j}$ ,

$$\begin{aligned} w_n^*(x, \lambda) &= \sum_{k=0}^{\infty} w_{n+k}^{(r)} \binom{x}{k} \lambda^k \\ &= \sum_{k=0}^{\infty} \sum_{j=1}^r (-1)^{j+1} P_{r,j} w_{n+k-j}^{(r)} \binom{x}{k} \lambda^k \\ &= \sum_{j=1}^r (-1)^{j+1} P_{r,j} \sum_{k=0}^{\infty} w_{n+k-j}^{(r)} \binom{x}{k} \lambda^k \\ &= \sum_{j=1}^r (-1)^{j+1} P_{r,j} w_{n-j}^*(x, \lambda) \end{aligned}$$

which is a recurrence relation of order  $r$ . When  $r=2$  and the  $P_{r,j}$ , are unity, this reduces to an ordinary second order recurrence relation. The second line of this proof comes from [19, Chapters 14, 18].

We are now in a position to show that the power series in (1.1) converges for a sufficiently small  $\lambda$ :

$$\begin{aligned} w_n^*(x+1, \lambda) - w_n^*(x, \lambda) &= \sum_{k=0}^{\infty} w_{n+k}^{(r)} \left( \binom{x+1}{k} - \binom{x}{k} \right) \lambda^k \\ &= \lambda \sum_{k=1}^{\infty} w_{n+k}^{(r)} \binom{x}{k-1} \lambda^{k-1} \\ &= \lambda \sum_{k=0}^{\infty} w_{n+k+1}^{(r)} \binom{x}{k} \lambda^k \\ &= \lambda w_{n+1}^*(x, \lambda), \end{aligned}$$

which is effectively a functional difference equation for  $w_n^*(x, \lambda)$ . If we set the difference operator

$$\Delta w_n^*(x, \lambda) = w_n^*(x+1, \lambda) - w_n^*(x, \lambda),$$

then we have the rather neat difference calculus result that

$$\Delta w_n^*(x, \lambda) = \lambda w_{n+1}^*(x, \lambda).$$

Furthermore, if

$$w_n^*(x, \lambda) = \sum_{j=1}^r A_{r,j} \alpha_{r,j}^n,$$

where  $A_{r,j}$  depends on the initial values of  $\{w_n^{(r)}\}$ , then from (1.1):

$$\begin{aligned} w_n^*(x, \lambda) &= \sum_{k=0}^{\infty} w_{n+k}^{(r)} \binom{x}{k} \lambda^k \\ &= \sum_{k=0}^{\infty} \sum_{j=1}^r A_{r,j} \alpha_{r,j}^{n+k} \binom{x}{k} \lambda^k \\ &= \sum_{j=1}^r A_{r,j} \alpha_{r,j}^n \sum_{k=0}^{\infty} \binom{x}{k} (\lambda \alpha_{r,j})^k \\ &= \sum_{j=1}^r A_{r,j} \alpha_{r,j}^n (1 + \lambda \alpha_{r,j})^x \end{aligned} \tag{2.1}$$

For example, from (1.1):

$$w_n^*(1, \lambda) = \sum_{k=0}^{\infty} w_{n+k}^{(r)} \binom{1}{k} \lambda^k = w_n^{(r)} + \lambda w_{n+1}^{(r)}$$

and from (2.1):

$$w_n^*(x, \lambda) = \sum_{j=1}^r A_{r,j} \alpha_{r,j}^n + \lambda \sum_{j=1}^r A_{r,j} \alpha_{r,j}^{n+1} = w_n^{(r)} + \lambda w_{n+1}^{(r)},$$

as required. It also follows from (2.1) that

$$\begin{aligned}
w_n^*((x+y), \lambda) &= \sum_{j=1}^r A_{r,j} \alpha_{r,j}^n (1 + \lambda \alpha_{r,j})^{x+y} \\
&= \sum_{k=0}^{\infty} \sum_{j=1}^r A_{r,j} \alpha_{r,j}^{n+k} (1 + \lambda \alpha_{r,j})^x \binom{y}{k} \lambda^k \\
&= \sum_{k=0}^{\infty} w_{n+k}^*(x+y) \binom{y}{k} \lambda^k,
\end{aligned}$$

which agrees with Section 3 of [20]. We can thus also obtain from (2.1) that

$$w_n^*((x+y), \lambda) = \sum_{j=0}^{\infty} \sum_{k=0}^{\infty} w_{n+j+k}^{(r)} \binom{x}{j} \binom{y}{k} \lambda^{j+k}.$$

Similarly,

$$\begin{aligned}
w_n^*((x+y+z), \lambda) &= \sum_{k=0}^{\infty} w_{n+k}^*(x+y) \binom{z}{k} \lambda^k \\
&= \sum_{i=0}^{\infty} \sum_{j=0}^{\infty} \sum_{k=0}^{\infty} w_{n+i+j+k}^{(r)} \binom{x}{i} \binom{y}{j} \binom{z}{k} \lambda^{i+j+k}.
\end{aligned}$$

It can then be proved by induction that for  $i = 1, 2, \dots, k$ ,

$$w_n^*\left(\left(\sum_{i=1}^k x_i\right), \lambda\right) = \sum_{j_i} w_{n+\sum j_i}^{(r)} \prod_{i=1}^k \binom{x_i}{j_i} \lambda^{\sum j_i}, \quad i = 1, 2, \dots, k. \quad (2.2)$$

*Proof:* We have established (2.2) for  $i = 1, 2, 3$ ; assume it is also true for  $i = 4, 5, \dots, k-1$ . Then

$$w_n^*\left(\left(\sum_{i=1}^k x_i\right), \lambda\right) = \sum_{j_k} w_{n+j_k}^*\left(\sum_{i=1}^{k-1} x_i\right) \binom{x_k}{j_k} \lambda^{j_k}$$

and the result follows since

$$w_{n+j_k}^*\left(\sum_{i=1}^{k-1} x_i\right) = \sum_{j_i=0}^{\infty} w_{n+\sum j_i}^{(r)} \prod_{i=1}^{k-1} \binom{x_i}{j_i} \lambda^{\sum j_i}$$

from the inductive hypothesis. □

For further related convergence properties, see [18].

### 3 Complex plane

We can also use these functional difference equations to investigate analytic extensions of Lucas' fundamental basic and primordial sequences,  $\{u_n^{(r)}\}$  and  $\{v_n^{(r)}\}$ , from  $r = 2$  to arbitrary order,  $r$ , to the complex plane as Horadam did for complex Fibonacci numbers [11].

In the terminology of Macmahon [16],  $u_n^{(r)}$  is the homogeneous product sum of weight  $n$  of the quantities  $\alpha_{r,j}$ ; that is, it is the sum of symmetric functions formed from a partition of  $n$ .  $v_n^{(r)}$  is then the sum of the  $n$ -th powers of the quantities  $\alpha_{r,j}$  [13]. Now, if  $\alpha_{r,j} < 0$ , let

$$\mathbb{Z}\alpha_{r,j} = e^{i\pi}(-\alpha_{r,j}), j=1,2,\dots,r,$$

and let

$$v^{(r)}(\mathbb{Z}) = \sum_{j=1}^r \alpha_{r,j}^{\mathbb{Z}}, \mathbb{Z} \in \mathbb{C},$$

so that when  $n \in \mathbb{R}$ ,  $v^{(r)}(\mathbb{Z}) = v_n^{(r)}$ . We look now at the periodic properties of  $v^{(r)}(\mathbb{Z})$ . Let

$$\alpha_{r,j}^z = \alpha_{r,j}^z e^{2\pi i} = \alpha_{r,j}^{z+p_j}$$

so that  $p_j$  is the period of  $\alpha_{r,j}^z$ . Clearly  $v^{(r)}(z)$  is not periodic if  $\alpha_{r,j}$  are distinct, since

$$v^{(r)}(z+q) = \sum_{j=1}^r \alpha_{r,j}^{z+q} \neq \sum_{j=1}^r \alpha_{r,j}^{z+p_j} = v^{(r)}(z).$$

Many of the identities of  $v_n^{(r)}$  carry over to  $v^{(r)}(z)$ . One of these is

$$v^{(r)}(z) = \sum_{k=0}^{\infty} \sum_{j=1}^r (\ln \alpha_{r,j})^k \alpha_{r,j}^a \frac{(z-a)^k}{k!}. \quad (3.1)$$

*Proof:* Suppose  $v^{(r)}(z)$  is analytic inside, and on, a circle with centre at  $z=a$ . Then, for all complex points  $z$  in the circle, the Taylor series representation of  $v^{(r)}(z)$  is given by formula (3.1). When  $a=0$  and  $z=n$ , (3.1) becomes

$$v_n^{(r)} = \sum_{k=0}^{\infty} \sum_{j=1}^r (\ln \alpha_{r,j})^k \frac{n^k}{k!},$$

which agrees with a formula for  $v_n^{(2)}$  discovered by Whitney [24]. We can reconcile this representation of  $v_n^{(r)}$  with the usual form, as follows

$$\begin{aligned} v_n^{(r)} &= \sum_{k=0}^{\infty} \sum_{j=1}^r (\ln \alpha_{r,j})^k \frac{n^k}{k!} \\ &= \sum_{j=1}^r \sum_{k=0}^{\infty} (\ln \alpha_{r,j})^k \frac{n^k}{k!} \\ &= \sum_{j=1}^r \exp(\ln \alpha_{r,j}^n) \\ &= \sum_{j=1}^r \alpha_{r,j}^n, \end{aligned}$$

as required. Studies of other analytic properties of  $v^{(r)}(z)$ , such as the genus, canonical product, and Hadamard's factorization theorem would seem to yield little specific knowledge about  $v^{(r)}(z)$  without information about its zeros. However, for the generalized Fibonacci polynomials  $u_n^{(r)}$ , defined by

$$\sum_{n=0}^{\infty} u_n^{(r)}(x) \frac{t^n}{n!} = \exp \left( xt + \sum_{m=1}^{\infty} v_m^{(r)} \frac{t^m}{m} \right),$$

we have that

$$u_n^{(r)}(x) = \frac{1}{2\pi i} \oint \frac{\exp\left(zw + v_m^{(r)} \frac{w^m}{m}\right)}{w^{n+1}} dw,$$

where the contour encloses the origin. The result is a direct application of Cauchy's formula [6]. Readers who wish to extend these ideas could delve into the work of Fassenmyer, who under the supervision of Earl Rainville [21] extended the work of Bateman's  $Z_n(t)$  and  $J_n''$  [2] into pioneering results with hypergeometric polynomials in particular, and in combinatorics in general [1]. Sister Fassenmyer's work [8, 9] also appears in higher degrees by research, as does that of Herb Wilf [25] who championed the role of Fassenmyer: "Wilf and Zeilberger then worked to push Sister Celine's methods even further to produce what today is called 'WZ theory'... It allows an extremely elegant proof of certain classes of combinatorial identities and also provides an algorithm to generate new identities from old ones" [15].

## 4 Concluding comments for further development

The extension of Jackson's calculus [14] into the realm of discrete analytic functions offers scope for further related research. For instance, Harman [10] extended some of Jackson's calculus of  $q$ -functions into the complex plane of lattice points of the form  $(tq^m x, tq^n y)$  where  $q, x, y \in \mathbb{R}$  and  $m, n \in \mathbb{Z}$ . Harman also developed Cauchy integral formulas and found an analogue  $z^a$  of the function  $z^a$  for monodiffric functions [23], which are discrete analytic functions defined on the set of Gaussian integers to satisfy the forward difference equation

$$i(f(z+1) - f(z)) = f(z+i) - f(z).$$

Finally, the monodiffric function  $z^n$  which corresponds to  $z^n$  has some notational analogies with (1.1) and can be expressed as:

$$z^n = \sum_{j=0}^n \binom{n}{j} x^{n-j} i^j y^j, \quad z = (x, y),$$

which suggests some further comparative generalizations.

## References

- [1] Andrews, G. E., & Askey, R. (1977). Enumeration of partitions: The role of Eulerian series and  $q$ -orthogonal polynomials. In: Aigner, M. (Ed.). *Higher Combinatorics*. Boston, MA: Reidel, pp. 3–26.
- [2] Bateman, H. (1936). Two systems of polynomials for the solution of Laplace's integral equation. *Duke Mathematical Journal*, 2(3), 569–577.
- [3] Carlitz, L. (1954). Congruences for the solution of certain difference equations of the second order. *Duke Mathematical Journal*, 21(4), 669–679.

- [4] Carlitz, L. (1962). Generating functions for powers of certain sequences of numbers. *Duke Mathematical Journal*, 29(4), 521–537.
- [5] Carlitz, L. (1970). Some generalized Fibonacci numbers. *The Fibonacci Quarterly*, 8(3), 249–254.
- [6] Duffin, R. J. (1956). Basic properties of discrete analytic functions. *Duke Mathematical Journal*, 23(2), 335–363.
- [7] Elmore, M. (1967). Fibonacci functions. *The Fibonacci Quarterly*, 5(4), 371–382.
- [8] Fassenmyer, M. C. (1947). Some generalized hypergeometric polynomials. *Bulletin of the American Mathematical Society*, 53(8), 806–812.
- [9] Fassenmyer, M. C. (1949.) A note on pure recurrence relations. *The American Mathematical Monthly*, 56(1), 14–17.
- [10] Harman, C. J. (1974). A note on a discrete analytic function. *Bulletin of the Australian Mathematical Society*, 10(1), 123–134.
- [11] Horadam, A. F. (1963). Complex Fibonacci numbers and Fibonacci quaternions. *The American Mathematical Monthly*, 70(3), 289–291.
- [12] Hyers, D. H., Isac, G., & Rassias, T. (1998). *Stability of Functional Equations in Several Variables*. Birkhäuser, Basel, pp. 45–47.
- [13] Jackson, F. H. (1951). Basic integration. *Quarterly Journal of Mathematics. Oxford (Series 2)*, 2(1), 1–6.
- [14] Jarden, D. (1966). *Riveon Lematimatika*, Jerusalem. p. 107.
- [15] Lucas, E. (1891). *Théorie des Nombres*. Paris: Gauthier Villars.
- [16] Macmahon, P. A. (1915). *Combinatory Analysis. Volume I*. Cambridge University Press, Ch.1.
- [17] Parizi, N. N., & Gordji, M. E. (2014). Hyers–Ulam stability of Fibonacci functional equation in modular functional spaces. *Journal of Mathematics and Computer Science*, 10(1), 1–6.
- [18] Patel, B. K., & Ray, P. K. (2018). On the convergence of second order recurrence series. *Notes on Number Theory and Discrete Mathematics*, 24(4), 120–127.
- [19] Rainville, E. D. (1960). *Special Functions*. MacMillan, New York.
- [20] Shannon, A. G. (1976). Some number theoretic properties of arbitrary order recursive sequences. *Bulletin of the Australian Mathematical Society*, 14(1), 149–151.
- [21] Shannon, A. G., Cook, C. K., & Hillman, R. A. (2017). Arbitrary order recursive sequences and associated continued fractions. *Journal of Advances in Mathematics*, 13(2), 7147–7154.
- [22] Shannon, A. G., Loh, R. P., Melham, R. S., & Horadam, A. F. (1996). A search for solutions of a functional equation. In: *Bergum, G. E., Philippou, A. N., & Horadam, A. F. (Eds.), Applications of Fibonacci Numbers, Volume 6*. Dordrecht: Kluwer, pp. 431–441.

- [23] Tu, S. T. (1981). Monodiffrie function theory and formal power series. *Journal of Mathematical Analysis and Applications*, 84(2), 595–613.
- [24] Whitney, R. E. (1970). On a class of difference equations. *The Fibonacci Quarterly*, 8(5), 470–475.
- [25] Wilf, H. S. (1982). What is an answer? *The American Mathematical Monthly*, 89(5), 289–292.